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tlus 1 Name

.s: Integration for Acceleration, Velocity, and Position Block Date

e acceleration of a projectile is —32 feet per second per second. At five second:

ity of the object is —B50 feet per second. At seven seconds, the position of the
1 feet.

a) What are the velocity and position functions?
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Vhat are the initial velocity and position of the object?
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/hen does the object reach its maximum height and whatis its maximum height?
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Vhen did it hit the ground and what was its impact velocity? )
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hat are the total distance traveled and the displacement of the object?
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object with rectilinear motion has an acceleration function: a(t) = 2 3t -1. T

t has a velocity of 13 feet per second at six seconds. It has a position of —2.25
‘ee seconds.
a) What are the velocity and position functions?
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What are the initial velocity and position of the object?

vis) = | +ilsec gr—

f(o) AN LTI ;—ju-?'“

When is the object at rest? What is its position at those time(s)?
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Vhat are the acceleration, the velocity and the position of the object at 5.6
nds?
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'hat are the total distance traveled and the displacement of the object in the
r six seconds?
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